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Chapte

1. _An expression is shown below.

2411x

Which value of x makes the expression equivalent to 88117

A 3
B. 9
C. 16
D. 36

2. Simplify: £ %20 3

A x+3

x+7
’ 4

B
C. ¥—-9
D

X4 x—21
P&

3. Find the least common multiple (LCM) of 9a°h°c and 27a°b"c".
A 9a%b’c -
'B. 3abc’
C. 27a°b°c*
D. 243a%°c?
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Lessons -8

4, Factor completely: x* — 2x — 48
A. {x+6B)x + 8)

B w—8K—8 | —
C. (x—8)x + 8)
D. {x+ B)x — 8)

5. Prita is grocery shopping. She wants to buy a loaf of bread that costs $5.29, ten-
apples that cost $1.05 each, and three pounds of bananas that cost $0.89 per pound
Which is the best estimate for the total cost of Prita’s groceries?

A $9

B. $17
C. $18
D. $20

6. - Simplify: [3° — 3+/16]
A 15

B. =3

c. 3

D. 15
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Use the figure below for questions 7 and 8.

Bx+2}m

7. What is the perimeter of the rectangle?

A Bx—2)m

B. 6 —-8m

C. (10x—4)m »
D. (6X —8x—8m

8. What is the area of the rectangie?

A

B
C.
D

Bx —2)m"
(10x ~ 4) m?
6% — 8y m”
(6x* — 8x — 8 m’

(2x—4)m-
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Lessons 1-8

The number = is an ifrational number that can be approximated in many ways.
Below is a list of possible approximations of .

nnA

PPV — _2_2_ N sl 201 e —— [
| S R

Use this list of numbers for guestions 9 and 10.

9. Which is the correct ordering of these numbers from least toc greatest?

A 20122 g4 543

64 7°
B. 3.14, % % V2 + 43
_ C._NZ ++3, % %3 14 S . e —

22 201
p. 7,\@ + /3, 3.14,31

10. Between which two approximations does « belong?

between V2 + V3 and %%l

A
B. between 3.14 and 2 + 3
C

22 ('_\‘-
between = and 3.14 3

201 22
D. between .y and =




11. Simplify; Y1850

7
A. 34

B. 8

C. 3+5V2-
D. 16

12. Factor completely: x* — 3x + 2
A, x+2)x—1)
B. (x+2}{x+1)
C. x—2(x—1
B. (x—2)(x+ 1)

Tram
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13, Simplify: V16 - 27

A,

6

Lessons 1-8

14,

B
C.
D

e
12
1243

Find the greatest common factor (GCF) of 2x°%*2° and 8x*y’z.

A.

2x°%y'z
4xyz

1.

o oW

8)(:4}7526
16x7y°7'

Simplify: X=Bx 18,y g —3

A

B.

)
k-5

(x+ 3)
3
tc—3)
& +5)
(X 3)
(x -+ 5)

(x — 3y
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16. A polynomial is shown below.

X+ 20+ (C24)

A. Factor the polynomial. .

B. . Explain why the polynomiial is not the difference of squares. - - -

C. Use one of your facters from Part A to write a polynomiai that is the difference
of squares.

58 e Chapter 1: Operations with Real Numbers and Expressions



1.

1apter

Consider the system of linear equations shown below.

qy =x — 12
Xty=2

Which is the graph and solution of this system?

A.

¥ B. Y
4
Rams=duniz) 5!
B ‘412 3
AT é; 2
e X —'ﬁ,—n@ﬁ“—sq ] A
a”;ﬁf -
. e )
y D. ¥
A
) +4(2.5, —0.5)
; 1
=5 4321 0| 2 A X 5432110 %3 4 X
NG B
1
""”:3 —(41 —z)ug
T ~

Kalinda wants to build a rectangular pen for her goats. She has 400 feet of fencing,
and she wants the length x of the pen to be at most 10 feet greater than the width y.

2x + 2y = 400
x=y-+10

What is true about the solution of this problem?

A

B
C.
D

The length is at most 105 feet, and the width is at most 95 feet.

if the length is 100 feet, the width must be between 90 and 100 feet.-
The length is between 10 feet and 105 feet.

If the length is 90 feet, the width must be between 90 and 100 feet.

~ This situation can be modeled by using the system of linear equations shown below.

92
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Lessons 9=12

3. What is the solution set of 2 < |x + 3|7

A.
B.

x> 1

—H < x <1

C. x<<horx>"1

D.

5 <X

4. Jordan is saving money for a $300 bike. He has $30 right now and plans to save $10
per week. The amount of money he needs can be modeled by the linear equation

y=

270 — 10x. One solution to this equaﬂon is (10 170). What does the solution

(10, 170) represent?

— A

B.

After-10-weeks,Jordan-will-have saved-$170:
After 10 weeks, Jordan will stilt need $130.

C. After 10 weeks, Jordan will have saved $160.

D.

After 10 weeks, Jordan will stil need $170.

5. Jamaal solved an equation by following the steps shown below.

7 Given: 2x + 4 = 5x — 11
Stepi: 2x—-2x+4=5x—2x— 11

Step 2: 4 =3x — 11
Step 3: 4 +11=3x~11 4+ 11
Step 4 15 = 3x

- . 15 _ 3x

Step 5: 3 =73,

Step 6: b=x

What property can be used to justify Step 57

A.
B
C.
D. the division property of equality

the distributive property

the associative property

the addition property of equality

I8
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6. Morris spent $94 on shorts and T-shirts. Shorts cost $14 a pair and T-shirts cost $8
each. Morris bought a total of 8 items. This situation can be modeled by the system of
equations shown below. '

xX+y=28
8x + 14y = 94
What is the solution of this system, and what does it mean?

A. (3, 5); Morris bought 5 pairs of shorts and 3 T-shirts.
B (3'.5); Morris bought 3 pairs of shorts and 5 T-shirts.
C. (5, 3); Morris bought 5 T-shirts and 3 pairs of shorts.
D. (5, 3); Morris bought 3 T-shirts and 5 pairs of shorts.

7. Choose the graph of the solution of 2 = x + 5 = 3.

A <t >
-4 -3 =2 "1‘ 0 1. 2 3 4
R e e
-4 -3 -2 -1 0 1 2 3 4
C. <+t pmmtp—|>
-4 -3 2 -1 0 1 2 3 4
D. gt} T NP ST

8. .A skydiver jumps from an airplane and reaches terminal velocity when she is 12,000
feet above Earth’s surface. At terminal velocity, she falls at a rate of 170 feet per
second. Which equation models this situation, where f is the height in feet above
Earth and ¢ is the time in seconds after reaching terminal velocity?

A h =170 — 12,000t
B. h =170 + 12,000t
C. h=12,000 — 170t
D. h=12,000 + 170t

94 » Chapter 2: Linear Equations and Inequalities
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9. Sanjay is two years less than three times his sister Nisha’s age. The sum of their ages

10.

11.

Lessons 912

is 26. Which is a system of equations that models this situation, and what are Sanjay’s
and Nisha’s ages?

A.

B
C.
D. x +y=26;x =3y — 2;Nishais 12 and Sanjay is 7.

X +y = 26; x = 3y + 2; Nisha is 6 and Sanjay is 20.
X +y = 26; x = 3y + 2; Nisha is 20 and Sanjay is 8.
X +y=26;x =3y — 2; Nisha is 7 and Sanjay is 19.

Which is the graph of the solution set of x + 3 < 4x — 67

A

P ST S O ST S T
-4 -3 2 -1 0 1 2- 3 4
D e A
-4 -3 -2 1 0 1 2 3 4
S s e e
-4 3 -2 -1 0 1 2 3. 4
D e e e
-4 -3 2 1 0 1 2 38 4

What is the solution of the system of equations shown below?

D

dy = 4x + 2
10 = 6x — 4y
~& 25
9’18
4 -5
"3 B

=

- (12,3
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12. Which graph shows the solution of the following system of linear inequalities?

— .8
=T eXt g
y= 3X73
y=2x-2
)
y . B. y
A .
5 5 £
s 4 4
~ ] . N
NEEEERY YRR
|
I
4
V )
Y D. y
A . A
5 mﬁ.
ST
“Ts54=32138 NEEEEEE ] X
1! 1 '
L 2 2
3 —31
4 - 4
- .

13. A test consists of rhultip!é—choice and short-answer quesﬁohs. The total number of
questions on the test is 40. The muitiple-choice questions are worth 2 points each
and the short-answer questions are worth 4 points each. The total possible number

of points on the test is 100. This situation can be modeled by the system of equations

shown below.

x+y=40
4x + 2y = 100

What is the solution of th‘is system, and what does it mean?

A.
B
C.
D

. (80, 10); There are 30 short-answer questions and 10 multipfe—choi_ce questions.

(10, 30); There are 10 multiple-choice gquestions and 30 short-answer guestions.-
(10, 30); There are 10 short-answer questions and 30 muitiple—choice'questions.

(30, 10); There are 30 multiple-choice questiohs and 10 short-answer questions.

86 = Chapter 2. Linear Equations and Inequalities



Lessons 912

14, Petra wanis to save at least $800 for her vacation. She has $320 and will save the
same amount each week for the next 10 weeks. This situation can be modeled by the
ineguality 320 + 10x = 800. Which statement about her savings is true?

A, Petra will need to save at most $48 per week for the next 10 weeks to achieve
her goal.

B. Petra will need to save at least $48 per week for the next 10 weeks to achieve
her goal.

C. Petra will need to save at most $112 per week for the next 10 weeks to achieve
her goal.

D. Petra will need to save at least $112 per week for the next 10 weeks to achieve
her goal.

15. Consider the graph shown below.

I

u‘x'&-‘..b [ Y

Which is the system of linear inequalities that corresponds to this graph?
— 1
A. y = “2“)( + —é
y>=>3x—3
1
2
y<3x-3

— 1
B. yzo x+§

— 1
C. y> Xt 3

y=3x-3

S PV |
D. y< Xt 5

y=3x—3

97




16. Mr. Krasa shipped a box of math textbooks and novels to a colleague. Each math
book weighed 2.5 pounds, and each novel weighed 1.25 pounds. There were a total of
18 books, with a total weight of 31 .25 pounds.

A. Write a system of equations that models this scenario. ldentify your variables.

B. Graph your system of equations on the coordinate grid. Let the horizontal axis
represent the number of math books and let the vertical axis represent the
- number of novels.

-
T

]

C. Describe two ways you can find the number of each type of book that Mr.
Krasa shipped.

D. How many of each type of book was in the shipment?

98 = Chapter 2: Linear Equations and Inequalifies
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Chapter 3 Review

1. Which graph represents a function?

S

A

2.  Which function is represented by the table of values shown below?

¥

a A el Wl Aol L
]

oL R34 4w tn

o W e

y=5- %4
Y=gy
y=5-%
y=p-%

B.

) B

o n o

X

-2

—1

2

4

—8.5

-5

55

12.5

137




3. The table below represents a linear function.

n
o0

X 1 3 _
y 4.5 35 | b | 1

What is the missing value, b?

A 15
B. 2
C. 25

D. 3 .

4. What is the range of the relation shown below?

| @ ~1). @ ~2),0,0,6,7,4,6 y
{2, —1, 4, ~2,0} T

{0, 2, 3, 4}

{0,3,7,4,6}

. {72,71,0,6,7}

oo w >

5. Hamid buys a bus pass for-$10 and then pays $0.25 each time he rides the bus.
Which eguation shows the relationship between the number of times that Hamid rides
the bus, b, and his total spending, c?

" A c=025b |
B. ¢=025b+10 .
C. c=10b |
D. ¢=10b+ 0.25

138 » Cﬁapter 3: Functions
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Lessons 1317
8. A relation is graphed on the coordinate grid shown below.

¥

4y B th

oL

k]

n Lo

What is the domain of this relation?
“4=x=4

B. {4,783 72,71,0,1,2,3,4}

C. 3=y=1

D. {~3,2,1,0,1}

7. The table below shows values of y as a function of x.

X 2 -1 { 0 1 2

lna |

0

=

y 5

| Lalhe

Which linear equation describes the relationship between x and y? -

A. y=%f(
B. y=3x
C. .y=“1§x
D. 'y="3x

138




8. Which equation describes the graph shown below?: .

|

R EEEELY =X
Bi
)
11X
A y=4&x+1 B, y+4x=1
C. dy=x+4 | D. 4y +x=4

9. The table below shows points on the graph of a linear function.

' X i 1 2 3 | 4 5 -.
~1 -1 -3 _ —5
y 7 5 | I T, r

Which graph matches the table?

A y y
| b 4
f| )
,ﬂ*m-._‘-il" . . ,:L —x
'!-1‘*“1-;’_'0‘_“’_;_ i) AN W N
* :
¥ ] v
' Y
C. A D. 3{
] I
3“" an gf.-t" o
N =X NEETE) 3 "
o S '
i :
] Y

£
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Lessons 1317

10. Which table of values corresponds o the function graphed on the coordinate grid?

y
’
: =
5432 < X
A X 4 -2 0 5
y —35 | —25 | —1.5 2
51 x 5 | 3. | 1 4
v -3 -2 = 2
C. X 4 -2 0 2
y —25 | —15 | —05 0.5
D. X —1 1 3 5
¥ —1.5 0 0.5 2

1M



11. What are the domain and 'rangé of the relation shown in the table below?

X 4 5 9 12 .
y 2 3 7 11

Domain: all real numbers; Range: all real numbers
Domain: {4, 5, 8, 12}; Range: {2, 3, 7,'1 1}
Domain: {2,3,7, 11}; Range: {4, 5, 9, 12}
Domain: {4, 2, 5', 3}; Range: {9, 7, 12,'11}

Uowp>

12. Which function is represented by the graph shown below?
. - i i

CAy=T5x+2

B. y="3x+2

2
C. y=w§X+2

142 » Chapter 3. Functions

“FNinllratina ame nart Af thle el lo mechlislad b st 8 GO Tl mmmis b aseebas 11O



Lessong 1317

8. The manager of a bike shop renis bicycies. The manager charges for the bicycle plus
an hourly fee. The cost (¢), in dollars, to rent a bicycle for any number of hours (h) is
_ described by the function ¢ = 2k + 10. Which statement is true?

t

A. The cost to rent a bicycle for 7 hours is I$37.
B. The cost to rent a bicycle for 6 hours is $22.
C. It costs $2 to rent the bicycle and a $10 fee per hour.
D. It costs $2 io rent the bicycle and a $12 {fee per hour.

1.4. Which relation is not a function?
A {2, 3),2, 4,25 @2 6}
B. {{1,2), 2,8, 2,4 2}
C. {0,122, 3)
D. {(1,1), 2, 4), @, 9), 4 18)}

!

15. The gas tank in John’s car holds 15 gallons of gas. His car’s average gas mileage
is 20 miles per gallon. If John starts a trip with 15 gallons of gas in his car, which
‘equation represents the relationship between the distance driven (x) and the gallons of
gas (y) in the car?

A y=20x~15
B. y=usx—15
C. y=—21—0x+15

D. y= —20x + 15

143




i}

16. -A relation is descnbed as follows: each output value (y) is the product of the lnput
value {x) and 2,

A. CGomplete the table for this relation. .

X —2 -1 0 1

B. s the relation a function? Explain.

;

C. Graph this relation on the coordinate gnd not only for the vafues in the tab[e
but for all values in the domain that correspond to the points on this grtd

5 4732

_‘_l_-ﬁhn FL-ID

D. Write an equation that represents this relation.

" Dupllcating any part of this book s prohibited by faw. @ 2015 THurmoh |esrmina, £ &
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~ Chapter 4 Review

1. Judith did an experiment to measure the rate of water evaporaﬁon. She put a bucket
of water in the garden and checked its weight at the beginning of each week. Her
results are shown on the scatter plot below.

Ty Weight Loss Over
A 8 Weeks

150

145

140
Py

135

130

125

-9
¢ 1 2 3 4567 8 9
Week Number

Weight {in ounces}

Which equation most clbsely matches the line of best fit for these data?

A y=8x+136

B. y=—8x+ 145
C. y=x+136
D. y="x+145

| 2. The height of a burning candle during the time it is lit is shown in the graph below.

Change in Height of a

<

A Burning Candle

10
T

_: 8

Qo 7

E o5

£ 5 ——

£,

= o]
@y

I .

f=]

' X
. 15 30 45 60 75 90 105 120 135 150 165 180
Time (in minutes)

What is the y-intercept of the line, and what does it represent?

A. It represents the rate at which the height of the candle is decreasing.

—1.

30’
A
30’

B It represents the time-it takes for the candle height to decrease to 2 inches.
C. 2; It represents the final heightr of the candle.
D

8; It represents the initial height of the candle.
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3. Which table of values shows a constant rate of Change?

AT x 2 | 5 | 11 12
V. 10 | 19 | 37 | 41
B X 1 3 5 7
y 10 19 28 37
C X 1 2 A 8
y 2 8 9 10
D x 4 6 10 1
y 0 0.5 1.5 2.0

4. Aline is shown graphed below.

5 4 =3 21

&* o Ny ﬂl'E‘__:‘
¢

Which equation represents this line?
A ~x+2y=15

B. Toxty= 3

C. 2&A—y="3

D. 3x~15/=0

176 « Chapter 4: Coordinate Geometry
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5. A scientist collected data shown in the scatter plot below.

Lessons 18-21

o = gt

@

R o - T ¢ - )
-
@
o
&

0 123 455867 82481i0M

Which line is the best fit for modeling this data?

A Y B. ¥y

A j
& & !
t
. {sanE| ‘
a !'_L : ~2. .1 & i
2 o b - @
-] 2
1 1 e
- N X
0 1 2 34567 8910MN 0 {1 2345678 91011
C D. ¥y
y A
6 6
5__4!.-‘ Si=
4 Y 4 ®
2] ? \
3 [] ° 3 T % o
2 - ) & Z
1 P, | ; [
; ¥ X . N
0 1 23 4567 88910MN ¢ 1 2.345867848810M1

Water from a pipe fills a tank at a constant rate. After 10 minutes, there are 30 galions
of water in the tank. After 25 minutes, there are 48 gallons m the tank What is the rate
at which the tank is being filled?

A. 1.2 gallons per minute B. 1.92 gallons per minuie

C. 3.0 gallons per minute o D. 18 galions per minute

What is the slope of the line represented by the equation \3y + 5x = 9?

AL~

e
w
!
wlo

C.

(1[4
=
o

177




8.

10.

11.

Tania charges a flat fee plus a certain amount per hour to walk a dog, as shown in the
. graph below. g :

y Charge for Walking
A . a Dog
100 :
— 90 -
£ a0 .
2w ' /‘;
B 60 o]
'g 50 :
= 40 S
— 30 Z/
0 . -
O 20
Lol
X
0 05 1.0 1.5 2.0 25 3.0 35 4.0 45 5.0
A Time (in hours)

What is Tania’s hourly rate?

A. $5 B. $15
C. $10 ' D. $20.

When the dependent variable (y-value) decreases as the independ'ent variable
(x-value) increases, which statement describes the rate of change?

A. The rate of chénge is positive.
B. The rate of change is negative.
C. ‘The rate of change is zero.
D

The rate of change is undefined.

Which is the equation of a line that passes through the points (4, 5) and (~2, —3)7 _
A. yﬂ%xﬂ-% B, y=x+1
4, .1 — _
- C. y=3X—3 D. y=4x—-11

4

Kayla is walking along a road with a steady incline. At 1:00 p.m. she is at an altitude
of 260 feet. A quarter of an hour later, she is at an altitude of 330 feet. What is her rate
of increase in altitude for this time interval?

A 20ft/h B. 80ft/h
C. 320ft/h D. 1,320ft/h-

178 » Chapter 4: Coordinate Geometry
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13,

14.

15.

Lessons 18-21

The diameter of a particular tree at 4.5 feet above the ground was measured over the
course of several years, and the results are given in the scatter plot shown below.

%, Growth of a Tree Trunk

20
& 19 '
0 18
B 17
£ |l
= 18
=15 2
T
@ 14

]
[))

E 13 ®
O 2¢

Q1‘1
-

X
0 1+ 2 3 45 67 89 101N
. Time (in years)

-

Which equation best models the data?

A y=0865+12 B. y=15bx+12
C. y=085x+15 D. y=15

Snow is falling at a constant rate of 0.5 inch per hour. After 6 hours, how much snow
has fallen?

A. 0.5inch B. 3inches
C. 6Ginches D. 12inches

A fast-growing stalactite grows at a rate of 3 mm per year. If its height was 20 cm
when it was first measured, which is the best linear model for the height of the
stalactite as a function of time, where h is incm and tis in years?

A h=20t+3 o B. h=3t+20
C. h=20t+ 0.3 D. h=03t+20

At 6 A.m., the temperature outside Sandy’s house was 36°F. At 1 p.v., the temperature
was 52°F. What is the average rate of change of temperature, to the nearest tenth,
during this time interval?

A.  2.3° per hour B. 3.2° per hour
C. 7.4° per hour D. 10.4° per hour
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16. Kapeni recorded the weight of his new puppy every week for 14 weeks and he plotted
the data on the scatter plot shown below. :

K Puppy's Weight Gain .

(in ounces
I
Q

D 15 »
= i}l

— - X
0 172 34567 89 101112131415
~ Week

A. Draw aline that best fits the data.

B. Write the equation for the line you drew, rounding any numbers to one decimal .
place.

C. What is the slope of the line of best fit?

D. What is the y-intercept of the line of best fit?

Jdeating any part of this book is prohibited by law. @ 2015 Triumph Learning, LLC
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Review

t.  Andrew has a box filled with baseball caps. He has 3 blue, 1 green, and 2 black caps.
He randomly chooses one cap from the box for himself. Then he picks a second cap
out of the box, also randomly, for his little brother to wear.

What is the probability thai Andrew picked a black cap followed by a green cap?

1 1
A. 18 B. 15

1 8
C. 3 D. 5

2. Coach Sanders measured the heights, in meters, of all the members of the girls”
basketball team. The results are shown in the table. '

16 | 185 | 1.7 15 1.6
16 17 1.8 17 1.5
16 1.6 15 1.7 1.6

What is the interquartile range of these data?

A. O01m B. 03m
GC. 1.6m D. 1.7m

3. The circle graph shows Kawika's monthly budget. He makes $1,800 per month.

Monthly Budget

ilities

About what percent of his monthly income does he spend on rent and utilities?

A 7% B. 34%
C. 41% D. 51%

wuplicating any part of this baok Is prohibited by law. ® 2015 Triumph Leaming, LG
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Lessons 22-25

4. The dose size for a particular sheep medication versus the sheep’s mass is shown in

the scatter plot.

¥ -
s 4 J Sheep Medication

20
= 18
E 15 .
£ 14
— 10 L]
0 8 -]
% 8 []

4 2
]
a 2 ¢

G 5 1015 20 25 30 35 40 45 50 55 60 65 70 75 80 B5

Mass.(in kg)

What dose should be given to a sheep whose mass is 100 kg?

A 16 ml B. 17ml
C. 19mi D. 20ml

Arwen rolls a number cube (with sides labeled 1 through 6) twice. What is the
probability that the first or second result is the number 57

1 1
A. 35 B. 5
1 1
C. 35 D. )

Mr. Kim recorded the test scores for his math class, and he chsplayed the data in the
box-and-whisker plot shown below.

Test Scores

e e
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— 1 T 1T 1T 1 1

|
]
50 55 60 65 70 75 80 85 80 95 100
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) r

About what percent of the students in Mr. Kim’s class received a score greater than or
equal to 90 on the test?

A 10%
B. 15%
C. 25%
D. 45%
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7. Theline graph shows the lengths of male and female babies compared to their ages.

I\ Growth of Babies
30 T
22 boys ‘/’ 9

D o7 : > LA

L

L 26— girls

© 12345678 9 10111213
Age (in months)

Based on the graph what is the dn‘ference in Iengths of boys and glr!s at2 months

ofage7
A. 05in. B. 1.0in.
C. 15in. D. 2.0in.

8. The average reading rate for several grade levels is shown in the scatter plot.

Change in
AReading Levels
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Reading Rate
(in words per minute)
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5 6 7 B 910 11
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Using a line of best fit for the data, at what rate would you expect a twelfth grader
to read?

A. 230 words per minute
B. 235 words per minute
C. 240 words per minute
D

.. 245 words per minute

" caplican g any part of this book is prohibited by law. @ 2015 Triumph Learming, LLC
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10.

Lessons 22-25

A contestant on a game show has three boxes and three curtains to choose from in
order to win a car. First, the confestant must choose a box. There is a key under each
bhox, and one of the three keys is for the car. Then the contestant has to choose one
of the three curtains. Behind one of them is the car. What is the probability that the
coniestant will choose the car and its key?

B. £
c.
D. £

Shown is a scatter plot of the number of calories in different types of fruit versus
grams of sugar.

Sugar and
A Calqries in Fruit

[7:]
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Sugar (in grams)
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-]
‘ X

C 20 40 BO B0 100 120 140

Number of Calories

Which statement best describes the general trend of these data?

A. As the number of calories increases, the number of grams of sugar decreases.
B. As the number of calories increases,l the number of grams of sugar increases.
C. The grams of sugar remain constant as the number of calories increases.
5 )

There is no correlation between the number of calories and the grams of sugar.
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11. Mindy took a poll of her classmates to find out the type of movie that each student
I|kes best. The resuits are shown in the bar graph.

Favorite Types of Movnes

" Number of Students
O = N Wk o~

Mindy decides to expand her survey to another 80 students. Based on the data, what
number of students should Mindy expect to say that they prefer documentaries?

A.

B
[
D. 17

7
10
13

12. Keiko picks a marble at random frorrj a bag containing 8 red, 4 blue, and 8 green
marbles. She then replaces it and picks a second marble, also at random. What is the
probability that she picks a blue marble on the first pick and a green marble on the

. second pick?

Al

B-L

ol o= B G~

Duplicating any part of this book Is prohibited by law. © 2015 Tﬂumbh Learning, LLC
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13.

14.

Lessons 22-25

The line graph shows the average price of a galion of gas over the course of several
weeks for the West Coast and the East Coast.

w Comparison of Gas Prices
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Week

During which week was the difference in prices the greatest?

A. Week 2
B. Week3
C.  Week 8
D. Week 10

During the school year, Sanjay recorded the number of hours he studied for each math
exam and the score he received. The results are shown in the scatter plot.

y Sénjay’s Study Time

. and Test Scores
100
a0 -
80 |- &
70
60
50
40
30
20
1D

[

@

Test Score

- X
-0 4 2 3 4 5 7

Hours of Study

Based on these data, approximately how many-hours would Sanjay need to study if he
would like to make a score of 100 on his next math exam?

A 4
B. 6 \'
c. 8

D. -9
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15. The manager at a school cafeteria'kept track of the num-bér of each of four types of
fruit that students purchased in one day. She recorded these data on the bar graph

shown below.

7Favorite Fruits

Type of Fruit.

0 20 40 60 80 100 120
Number of Students

An additional 50 students did not purchase fruit. If 300 students are in the cafeteria
on another day, about how many would be expected to buy oranges, based on

these results?

A.

B
C.
D

30
35

60 .

75
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16. At a party, each of 20 students wrote his or her name on a slip of paper and put it into
a hat. Names were selected at random to pick a prize from a grab bag at random. The
types of items in the grab bag and how many of each are shown in the table below.

Art set 3
Chemistry set 1
Board game 5
Book reader- 1

A. What is the probability that the first prize chosen was an art set?

Explain.

B. Five of the students wanted the art set. What is the probability that the first
name chosen was one of these students and he or she picked an art set?

22



16. Continued. Please refer to the previous page for task explanation.

C. What is the probability that the first prize chosen was an art set and the
second prize chosen was a board‘game?_Show your calculation.

D. Is the probability that the first prize chosen was a board game and the second
prize chosen was an art set different from the probability in Part C? Explain.
Show your calculation.

Uupiicéting any part of this book is prohibited by law. © 2015 Triumph Leaming, LLG
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